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1.  3Ife 360 3 64 %1 HCF 8 7, df 34 &3 T LCM 817 :

(a) 2480 (b) 2780
(c) 512 (d 2880

o o ¢

2. 7 cm S I T WF H Ok YU &TRA 550 cm2 @ | 3Hh! [k HaTg

3
(a) 24 cm (b) 25cm
(c) 14 cm (d 20cm
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(i)
(iii)
(iv)
(v)
(vi)

(vii)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.
In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-studyy.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. . 22 : .
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

If the HCF of 360 and 64 is 8, then their LCM is :
(a) 2480 (b) 2780
(c) 512 (d) 2880

The curved surface area of a cone of radius 7 ecm is 550 cm?2. Its slant

height is :
(a) 24cm (b) 25cm
(c) 14 cm (d 20cm
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2l fooeh w919 3BT U | SAfes-B-stfyes @ fua yrwa g ) wiflRiekar el

(a) (b)

e N

(c) (d)

N DN

aﬁ%amaﬂﬁw9x2+bx+izoésq§rw%,aﬁbwm@m:

a O (b) had —3
(c) <had 3 d +3
2 1-cos? A .
aﬁ tan A = g %, ?ﬁ m <l HIH % .
25 4
(a) Z (b) %
4 ]

(c) (d)
5 4

Ueh S o HIEAeh 37 Sgereh shA: 25 3TN 218 | ATgHh T W 37 ATohel

T T 7

(a) 27 (b) 29

© 18 @ 2

3
gsh FHIRUT y = x 3R x = 4 g F&EUd W@ P gf=sq) 2 | fog Pk
T €

y
N y =X
P
x' < 0 > X
lx =4

};,
(a) (4,0 (b) (4,4)
(¢ (0,4 d (-4,4)
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3. Two coins are tossed together. The probability of getting atmost two

heads, is :

(a)

—

1
- b -
2 (b) 4
3 1

(c) (d)

4

4., If the quadratic equation 9x2 + bx + i = 0 has equal roots, then the

value of b is :

(a 0 (b) —3only
(c) 3 only (d) +3
2
5. If tan A = 2 , then the value of # is
5 1—-sin“ A
25 4
49 b il
(a) 1 (b) oF
4 5
il d 2
(c) = (d) ,

6. Median and Mode of a distribution are 25 and 21 respectively. Mean of
the data using empirical relationship is :

(a) 27 (b) 29
(c) 18 (d) %
7. The lines represented by the linear equations y = x and x = 4 intersect

at P. The coordinates of the point P are :

y

N y =X

P
X' < O > X
lx=4

v

y!’
(a) (4,0) (b)  (4,4)
(c) (0,4) (d (-4,4)

430/2/3 ~ o~~~ Page 5 P.T.O.
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sin 90° + cos 60°

FHIAE T :
sec 45° + tan 45°
@ 1 b) %(ﬁn)
3 1++/3
SW2-1 d
(c) 2(J’ ) (d) NP

9. TRATBAP.AfraAued?
14, 19, 24, 29, ....., 119

(a) 18 (b) 14

(c) 22 d 21

10. foamgati (-6, 2) 3R (2, —6) = Fed I WHEE Hl y-7A& T4 U@ H
fawTfora et &, 98 379 &

(a) 1:3 (b) 3:2
(c) 3:1 d 2:3

11. 9seczA—9tan2AW% :

(a) 9 (b) O

© 8 @ =

12. 91 § 3l T U hl S 50 m T 7§ AR I &fdT & 60° T HI0T ST
2 | S sl Hiem AR, U Skl SHIT 8 eI @

100

(a) 5043 m (b) Z o

(c) %0 (d  25v3 m

J3
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sin 90° + cos 60°

8. The value of 18
sec 45° + tan 45°

@ 1 b 262+
3 1++/3
(W2 -1 d
(c) 9 ( ) (d) 2.1
9. How many terms are there in the A.P. given below ?

14, 19, 24, 29, ....., 119
(a) 18 (b) 14
(c) 22 d 21

10. y-axis divides the line segment joining the points (-6, 2) and (2, —6) in

the ratio :
(a) 1:3 (b) 3:2
(c) 3:1 d 2:3

11.  9sec? A-9tan? Ais equal to:

(a) 9 (b)

0
1
(C) 8 (d) 5

12. The string of a kite in air is 50 m long and it makes an angle of 60° with
the horizontal. Assuming the string to be straight, the height of the kite

from the ground is :

100
J3

m (d) 253 m

(a) 5043 m (b)

50
J3
430/2/3 ~ o~~~ Page 7 P.T.O.
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14.

15.

16.

BISAT R aT0l I o 30 BISI@Us &1 &9%ha oieeht vl o (feift #) g, 7 -

(a) —x2zR (b) * 2R
180 60

e % aRr? @ % xnr?
180 360

g O 9Tt Tk g1 W foig PH @ Ti@d PQ 3R PR &= 75 & | g0 & &6
I QRW T fog TR | 96 £ QPR =50° 7, Al £/ QTR S 2 :

().

(a) 50° (b)  130°
()  65° d 90°
agsh Tl x + 2y —5=0 3N 2x—4y+6=0 1 JH :

(a) 3T9d @

(b) 39 gl gfgd 97d 2
(¢c) AfedT g1 wiga 9vd 8
(d) <A 9Ed 914 7

fafafaa & 9 - g et gear 6 wikesar 787 81 gehdt ?

(a) 05 (b) 5%
1 05
(C) ﬁ (d) H

430/2/3 ~ N~~~ Page 8



13. The area of a sector of angle o (in degrees) of a circle with radius R is :

(a) > x 2nR (b) o x 2R
180 360

e X R? ) * L aR2
180 360

14. From a point P, two tangents PQ and PR are drawn to a circle with

centre at O. T is a point on the major arc QR of the circle. If
Z QPR =50°, then ~ QTR equals :

().

(a)  50° (b)  130°

(c)  65° (d  90°

15. The pair of linear equations x+2y—-5=0 and 2x—-4y+6=0:
(a)  1isinconsistent
(b)  is consistent with many solutions
(c) is consistent with a unique solution

(d) is consistent with two solutions

16. Which of the following numbers cannot be the probability of an event ?

(a) 05 (b) 5%
1 05
(C) ﬁ (d) ﬁ

430/2/3 ~ o~~~ Page 9 P.T.O.
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17. 3TH(d H, IgI p(x) T U6 G T 8 | p(x) o IR i T&AT 2

N
<

(a) 2 (b) 3

(c) 4 (d 5

18. U 3@ ¥ ¥ F=a aren wsh vigp 3 forsan amel T 19l W IEwiiua 7 |
Ifg 3% HI SATS IGh YR o SATH o THM &1, dl 3IE I T I

(a) mrd b) =nr

(c) 3nrd d =nar

430/2/3 ~~~~ Page 10



17. Graph of a polynomial p(x) is given in the figure. The number of zeroes of

p(x)is:
y
//O \/\\
t
(a) 2 (b) 3
(c) 4 d 5

18. A solid is of the form of a cone of radius ‘r’ surmounted on a hemisphere

of the same radius. If the height of the cone is the same as the diameter

of its base, then the volume of the solid is :

r
(@) 3 (b) %’“‘3
(¢c) 3mrd (d) % nrd

430/2/3 ~ o~~~ Page 11
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o7 G 19 K 20 AHYT Tq 7% HTIRG ¥ F R TAF FA F 1 HE
& 1 51 F97 158 1T & 5774 T @l STHIT (A) T TR 1 7% (R) GRT 3l 137 797

8 | 37 397 & gl 3T 717 13T 7T F1S] (a), (b), (c) 3K (d) § @ 7o T |

(a)  SAMTH (A) IR T (R) gHI T 8 3R b (R), Ao (A) it T&
ST T 2 |

(b)  AfTHA (A) AR T (R) gHI TJT &, Tq b (R), ATWheH (A) T Tt
T FgT T = |

(c) Rpaa (A) Wl B, W % (R) TToid 2 |

d) fpEE (A) Terd 7, W @ (R) T 7 |

19. 37UFHYT(A): Tk UTH hl Ush R hehd T, IJTHTST TEIT AT BIF <hl TTTrehdT
% B ?
7% (R) : Teh UTH o HheTehl T AT &IT 2, 3, 5 8idl & |

20. HYFIT(A): FgIG x2 + 4x % G AREA(Ih LI B |
7% (R) : T59C x2 +ax (a#0) % YIH 0 AL ad |

Qs 9

3G U 7 3717 Tg-ITHIT (VSA) IR & 97 8, 577 8% F 2 37 3 |

21. R (-3)Fg8 (k—1)x%+kx + 1 % Th I &, al kH T 1d T |
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Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c¢) and (d) as given below.

(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The probability of getting a prime number, when a die is

thrown once, is 3"

Reason (R): On the faces of a die, prime numbers are 2, 3, 5.

20. Assertion (A) : Polynomial x2 + 4x has two real zeroes.

Reason (R) :  Zeroes of the polynomial x2 + ax (a # 0) are 0 and a.

SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. If (- 3) is one of the zeroes of the polynomial (k — 1) x2 + kx + 1, find the

value of k.

430/2/3 ~a~~ Page 13 P.T.O.



22. wEN 18 90 foadi, 90 fe& (discs) T o ¥ W&t 8 | Ife & 4 & T
fsth ATgeaal Tehrell Sl 8, a1 STRehdl 1d it foh 39 feth o St g@&

forelt 8, 98 15 %1 O 7 |

23. & TS MM F, DE||AC3ﬁTEg gg | Rrg ife B DC || AP

AT UGS Ty &1 T ek, TEATSAT 540 3R 630 1 HCF

A HITT |

24, (&)

AT

(@) guisy fop foRelt off wTehd H&AT ‘v’ % o, (15)" 3T 0 W &HT &l &l

el B |

25. (%) < /% HH Fd HINY &6 PQ = QR 7, J&l fagatl P, Q 3 R %
freeTes AT (6, —1), (1, 3) 3 (%, 8) & |

AT

(@) wH Bgs & 3 (-2, 0), (2, 3) 3R (1, -3) & | ®= I8 Hrys a9,

gufgerg A1 fowweg 2 ?

430/2/3 ~ o~~~ Page 14



23.

24.

25.

430/2/3 ~a~~ Page 15 P.T.O.

A box contains 90 discs, numbered from 1 to 90. If one disc is drawn at
random, then find the probability that it bears a multiple of 15.
BE BC

In the given figure, DE | AC and EC-Cp° Prove that DC || AP.

(a) Find the HCF of the numbers 540 and 630, using prime

factorization method.

OR

(b)  Show that (15)" cannot end with the digit 0 for any natural

number ‘n’.

(a)  Find the value(s) of X’ so that PQ = QR, where the coordinates of P,
Q and R are (6, -1), (1, 3) and (x, 8) respectively.

OR

(b) The vertices of a triangle are (-2, 0), (2, 3) and (1, —3). Is the

triangle equilateral, isosceles or scalene ?



Qug

3T GV § TTY-ITHIT (SA) FHR & 97 &8, 79 I8% & 3 375 & |

26. TR foh fog A(=3, 2), B(-5, -5), C(2, —3) A1 D(4, 4) T TH=gHS ABCD
% MY § | 1 I8 TuEgs T o oft B 2

27. W8I p(x) = 2x%—Tx— 15 o Y[ A T I Eeh USRI qAT IAehi
o o= o GEY hl TIAT shl S Shifog |

28. (%) fug dife:
1-cos® _ (cosec O — cot 0)2
1+cos6
AAAT
(@) Tog hIvT :

(1+—1 j(1+ 1 )— 1
tan? A cot? A sin? A —sin* A

430/2/3 ~~~~ Page 16



SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26. Show that the points A(-3, 2), B(-5, —5), C(2, —3) and D(4, 4) are

vertices of a rhombus ABCD. Is it also a square ?

27. Find the zeroes of the polynomial p(x) = 2x2 — 7x — 15 and verify the

relationship between its coefficients and zeroes.

28. (a) Prove that :

H—Ose = (cosec O — cot 9)2
1+cosO
OR

(b) Prove that :

(1+—1 )[1+ 1 )— 1
tan? A cot? A sin? A —sin® A

430/2/3 ~a~~ Page 17 P.T.O.



29. (%) UH I % URi U =gs ABCD mepfa # fewny e wfi=n o § |
firg <hIfT % AB + CD = AD + BC.

D C

AT

(@) foag Hifu for foreft 9o & uftra TR =gy, T TH=gys BT & |

30. T T AR H, BEIhd HFT T &ABS A HIWT, &l g O AT & Hehyld
gl <h! BISATE S 2 em 3R 5em @ |

31. fag AT 5 10 + 2V/3 T i@y g g, feon 7 2 6 V3w swims

g 2 |

430/2/3 ~~~~ Page 18



29. (a) A quadrilateral ABCD is drawn to circumscribe a circle, as shown

in the figure. Prove that AB + CD = AD + BC.

D C

OR

(b)  Prove that the parallelogram circumscribing a circle is a rhombus.

30. In the given figure, two concentric circles with centre O are shown. Radii
of the circles are 2 cm and 5 cm respectively. Find the area of the shaded

region.

31. Prove that 10 + 2v3 is an irrational number, given that +/3 is an

irrational number.

430/2/3 ~a~~ Page 19 P.T.O.
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LCLERS|
39 TS H A5-3T (LA) IJHR 3 J97 8, 978 9% & 5 3% & |
32. 9 & 7 groft § s wenm & 100 famntR grn uredres forg U g | 39 3eRet

T HIET qAT HIETh JTd ShITIT :
YTedTeh 0-5 | 5-10]10-1515-20|20—-25|25—30
feremfer <k g 4 11 13 15 31 26

33. (&) Tl © A.P. s YW 8 UG 1 ATHA 100 AT YW 19 Ui &l ANTHA
5512 | 39 A.P. % YW ‘0’ Ui 1 ANTHS HTd ST |

AT

(@) =fe frel AP. % Y| p Ue o A I YAH q (p # q) Tal I
ANThSA, S 7, d gUsC fh 30 A.P. & 99 (p + q) Ui 1 JTHA

TR

34. (%) 60m S YT & TR ¥ @1 W TF TR & B M aa &
ST IV SHART: 30° AT 60° 8 | TSR hl HaT8 JTd shifoTT | T 3T
worl o < oAl gl ft 371d SIS | (V3 = 1:732 w1 TN i)

AT

(@) 9 % T fog A ¥, T Wod & e 1 393 0 30° 8 | 9o +
YR 1 AR 30 m Tt forg B a0 Uga- T 3T HI0 45° B Sl
3 | WA I HATE [T HINT IR fog A 8 wad o 9r i gt ot 9
Hifere | (/3 = 1-732 1 g4 Hife)

35. 3Afc forell PIgs 1 T Yo o TR A QA gonenl &I fE-fE fage w
gfdesg i o [T T @ @it A, af fig HifSe 6 3 g o o &
FaTd § funfor & ot €
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SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32. Find the mean and the median of the marks of 100 students of a class,

given in the following table :

Marks 0—5 |5-10 [10—15 |15—-20 | 20—25 | 25-30
Number of 4 11 13 15 31 26
students

33. (a) The sum of the first 8 terms of an A.P. is 100 and the sum of its

first 19 terms is 551. Find the sum of its first ‘n’ terms.

OR

(b)  If the sum of the first p terms of an A.P. is the same as the sum of
its first q terms, (p # q), then show that the sum of its first

(p + q) terms is zero.

34. (a) From the top of a building 60 m high, the angles of depression of
the top and bottom of a tower are observed to be 30° and 60°

respectively. Find the height of the tower. Also, find the distance
between the building and the tower. (Use +/3 = 1-732)

OR

(b)  The angle of elevation of the top of a building from a point A on the
ground is 30°. On moving a distance of 30 m towards its base to the
point B, the angle of elevation changes to 45°. Find the height of
the building and the distance of its base from point A.
(Use V3 =1732)

35. If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, then prove that the other two sides are

divided in the same ratio.

430/2/3 ~a~~ Page 21 P.T.O.
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3G TS § 3 YR 37eTT STERT I97 & 1978 Jodb & 4 376 & |

ThI0T AeFIA - 1

36. IO BHR S H Th AU qHeR MU § | 919 Tk IR a%g &l Hhid N
T Tk S o 1Y g W ALHET AT 7, d ST NA TR NB T-3@rasti
6 TE HM HA 8 | HBld H FAAAlGRA IS, et e g3 8 6

Z/ANO =30°3R OA=5cm 2 |

3ITH % SMYR R, fmfafed yeat & 3w i
(i) AN h &g T HIT |
(i) ~ AOB % " 14 iU |

(iii) () TG NA, NB 3R Sfla1 AB &1 $cd g 1 hiforg |

HAYAT

(iii) (@) 9fC £ ANO =45° g, a Iq4s OANB % TR &1 7 fAfgw |
39 IR T A FIferd HIT |

430/2/3 ~ o~~~ Page 22



SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. Circles play an important part in our life. When a circular object is hung
on the wall with a cord at nail N, the cords NA and NB work like

tangents. Observe the figure, given that ~ ANO = 30° and OA =5 cm.

Based on the above, answer the following questions :

(1) Find the distance AN. 1

(ii)  Find the measure of ~ AOB. 1

(iii) (a)  Find the total length of cords NA, NB and the chord AB. 2
OR

(iii) (b) If £ ANO is 45°, then name the type of quadrilateral OANB.

Justify your answer. 2

430/2/3 ~a~~ Page 23 P.T.O.



37.

ThI0T YA - 2

o § Wk Ahel T Racir fe@m™m T 8 | 14 em x 17 cm x 4 cm ToH13T 1
U TATYTRR AhE! Wl TN 8 | 3% S da W TgAfRGAl & fhe 3H &+

U OTd SeFTRR Wgd 8 | Tl ddHThR @REd shl 3918 3 em 3R B3
2 cm% |

394 o MER R, Frefafed yei & s G
()  Ueh SRR GRIAT S o T8 @IE] T Ahel o1 3T J1d ShiNT |
(i)  FTHTR Teoh i B W H TH o foTT qd I &hal F1d ity |

(i) (%) WA SRR @REA @igd & YT, TAHHRR Teeh H = g3
AhE! ol HFAT Td hifNT |
AT

(iii) (@) AR Tk % HHI Tag W Nl T HEM 6 [0 FHehT TR
&AhA JTA T |
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Case Study - 2

37. A wooden toy is shown in the picture. This is a cuboidal wooden block of
dimensions 14 cm X 17 cm X 4 cm. On its top there are seven cylindrical

hollows for bees to fit in. Each cylindrical hollow is of height 3 cm and

radius 2 cm.

Based on the above, answer the following questions :
(1) Find the volume of wood carved out to make one cylindrical hollow. 1

(ii)  Find the lateral surface area of the cuboid to paint it with green

colour. 1

(iii) (a) Find the volume of wood in the remaining cuboid after

carving out seven cylindrical hollows. 2
OR

(iii) (b)  Find the surface area of the top surface of the cuboid to be
painted yellow. 2

430/2/3 ~~a~ Page 25 P.T.O.
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38. wfe § ol g gl 61 FfEf sga g ot € | T8 & Tk gquer aeh |
feeht =2 ¢ m R, < I9-TvEl # | I FT E | Teh -GV Sl hg T 90°
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38.

Case Study - 3

Flower beds look beautiful growing in gardens. One such circular park of
radius ‘r’ m, has two segments with flowers. One segment which subtends
an angle of 90° at the centre is full of red roses, while the other segment

with central angle 60° is full of yellow coloured flowers. [See figure]

Yellow flowers

Red roses

It is given that the combined area of the two segments (of flowers) is

2
256 — .
3 sq m

Based on the above, answer the following questions :

(1) Write an equation representing the total area of the two segments
in terms of r’.

(ii))  Find the value of r.
(iii) (a)  Find the area of the segment with red roses.

OR
(iii) (b)  Find the area of the segment with yellow flowers.
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